Brf LAE 100 2FEFALTERLEHEB LT RIE

FBLAE BEE [NEMBELHET HEE] REASE © 444008
MKAFBRMERE "ATR, ERAFERFEYHA) - £1EB%18

1.

EHMERLBEERFEREARREEAMERT > ERALRHRET  HRERRBRFELE
KETH FEARGTRELRLT T ARETHGRIT - 20%

TEREREBGRSE  PHRXUIETRIRAS - FRALHITERZIEND Tl ELR
FIRBRANERBRGER  EXERBRANARBRGER? (FH2LEEY > RE
"R RARBRBRGER ) X TERERANAFBRGER ) ERES) 20%

BUROHMEEE  FHRERRSAUOT A FHTIHH AR HRER ?FHE
RAZIRBAZ? 20%

HTHERTLRENIN  ARNLFHERFTFRIANRENRE - FREFEREAE
SLER o 20%

MABS M AR ED » 25T HRERER (moral hazard) > SR i @842 (adverse
selection) % F MR &4 (information asymmetry ) 8§ F]28 ? 3R wEF FERAZ - 20%
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Fmd the critical points of f (x)= X ~15%+6. 10%

@ 0,45 ®-V5,-1 ©0.1 @-V5,¥5 (€)-45,0

Differentiate y = 4x° —%x" +9x° +10x* ~13x +6. 10%.

(a) dy/dx =4x" —%ﬁ +9x +10x =13 (b) dy/dx = 20x* — 2" +27%% + 20% —13

(c) dy/dx =80x" —6x> +54x +20 (d) dy/dx = 240x> —12x + 54 (e) dy/dx = 480x—

Differentiate y = 4x° -i4. 10%.
X

4 1 1
(a) dy/dx =12x* +x—5 (b) dy/dx =12x> +;5— (c) dy/dx = 4x* =

(d) dy/dx =12x* -;45~ (e) dy/dx =-12x* +iS

X

(x* +1D(2x* +1)

Differentiate y = 5 . 10%.
(Bx* +1)
5 3 3
(@) dy/dx_12r2+8x (b) dy/dx = ]2x7+8x2 (©) dyldx = 8x2+6x2
(Bx* +1)? Bx* +1) GBx*+1)
.5 3
(d) dv/ dx =~ 8x* +6x © dy 12x +8ch
(Bx* +1)* (6x+1)
Find dy/dx if x* +x?y* —1° =2x+1. 10% .
A3 Dy 3 3
@ afwdxﬁif% O dylar =22 gy gy g S0 460
3x7y 3x°y° =5y Bx™+1)°
2 _ .3
@) dyldie =% +6’“2 (&) dy/dv =2 =2
, (3x* +1) S5y" =3x"y

d')
Find 22 if »? +y%=4.10%

dx?

d’y 8x d’ 8x d* 4 d*y 4 d’y 8x-4
@ === 0 F=-F ©LiL--2 @ =5 @ 2F==5

dx y dx y oy dx ¥y
Find the slope-of the tangent line to the graph of Vi (x)——x +6x at (4, f(4)). 10%
()2 (b)0.5 ()0 (d)-0.5 (e) -2
Find any points of inflection of £(x) = -—x3 +x°.10%

(a) (0,0) (b)(1,0) (C)(——-—) (d)( 3 27) ()(3 27)
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9. Evaluate J-—;L— dx . 10%
X +5

(a) %(x" +5) (b) %lmx‘ +5] (€)0 (d) —;-(x-‘ +5) +C (e %ln|x-‘ +5|+C,
where C 1s constant term

3

10. Determine the interval on which f(x) = x*’* is increasing. 10%

9]
(@) (0. 0] (0) (<0, 2) (c)(%w) <d><—%,oo> (©) [0, %0




B P LAZ10EFERTRATTER LS RAAA

HELH G S [AEAALET EE] | B : 444005
MAABRBERL "TRERFER (B~ bR (AEFHAE) H£3EF1E

WEEw F5EER AAIBH R0 - FRAEE -

LESHATELFLNE REEESEMAEATERA(RERAGER) NREREAM? TKRE
F—EAMEE HREEETEATHEHINT [HIES5 5 £204]

(D BRXEENMHE>BRED ) B ERGDRFT AN
QB T ARAFENAHE H TEBCTEBOIFE  ATHER?
G TREFWHA ) B TRENBETREGZIK, MATHMH?
@) WAFE "M B TBRREERBER LGS RTFAR?

2HEARERGHET LB ELEEAHER200ER  AZAAEEROMEELATRY)

BEFER XS REHAE O YHGERA4 XA Y HESHE 2 SR XA YL G
BREAESD? [AHE55)

3. AOAARAELBERNMIEIER  ERENH B 60~ 5163~ 69~ 57 % FHHRMBIE
BEHEREETHHA - [HIE35 0 #£124]

(1) BSLBRARXETRAEN T$LH | BE?
Q) BESLMEERAXFTHARGY "HBEL | A7
B) R&E Sl p&e "TELER ) BAY

4) R 63 nEx THGBMR Zr#, A7
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6. — AWM EMSURE —MT 2K J AR B A 3848 547 (Path Analysis)éy {25 B A
A~ R AR ~ AR R~ S BRFS B M (Public Service Motivation) g £ 4 37 64 18 #- [ (Path

Diagram) o 4o TR & FF~ » B ¥ ATH 698 Bl 393,05 B KE - SHER TR & > 9ET 5 R
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8. H—TEMETMERLIETLEREESEMMA U-Bike (YouBike, # % S )84 RF M » 2 P 3%
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() R4 L& FH > R E R R A U-Bike(YouBike)#) 8 5] % & dy K /5 o
(2) HRA R F 03y o

b & ARGk REZ
AE 20.29 2.37
BE 50.78 5.52
CE 61.54 6.25
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(1) 7 i @85 77 72 X B A H 2 (Model Summary) 4 4248
(FERT: @R FTRAET LRSI REE LEHFFE2X)

(QFR hfadifhst » ERARBBLAF I LR -

9. TRAFLH K A BATEH 547 (Regression Analysis)#F 2] ey 43t % > HRBL AT METLET

918

[ Model Summary]
. Std. Error of the
Model R R Square  Adjust R Square Estimate
1 918 a .843 .829 4225
a. Predictor: (Constant) » B /A E4& B 48 &
[ Coefficients]
Model Unstand.a rdized Standardized Coefficient
Coefficients
B Std. Error Beta t p

ING+:9 -150.971 26.748 -5.644  0.00
REANEERABER 1.252 163 7.699  0.00

a. Dependent Variable: B RN NE % EE
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1990 4 4% 44k 77 2 2 69 Robert Kaplan $2 Nolen Norton #F 75 A7 A7 & David Norton 3 F % &
H— 234y B 4 T A — F453 5F (Balance Scorecard, fi#% BSC) » &% & H RI4E L
HHLERRAR —BRENTE  EERLHEEFRRA TS SFRRAENINTEL
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H 3 A4TEE B A 4 % (Benefit Corporation) &%ﬂ:@‘{t‘i—% (Social Enterprise) ? (25 %)
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tEBT—e&k? (25%)

s AT A E M 14 A(Stakeholder) T A £ EH MMM P RN 20134 2 A 98B ALFER
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(2) BRRNALXR LA ERES LS - [10 4]
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=~ (4738 & 36— 52 32 #%(Principal-agent Theory)? [10 4-]
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BELGH S AHERE T4 A%E, (Diversity Management) AL RAZ N
AAFTEBNER - (1) FRAS AP ERBEY T PEHERS  (Equal Employment.
Management ) #u35 #4% 4 (Afﬁrmatlve Action) Fe &8 £ EM (Valuing Differences) 58184
ERE BFMAR T (40%) ;5 (2) ERSAATEHNFIIEE  AHEER? (10%)

i1

EE LY A




